

SNS COLLEGE OF TECHNOLOGY (AN AUTONOMOUS INSTITUTION) COIMBATORE - 35 DEPARTMENT OF MATHEMATICS



Constauction of analytic function

Milne - Thompson Method

(asei) If u is given, then constauct f(z) = u + iv as follows

i) find ux, uyii) Find $ux(z_0)$, $uy(z_0)$ iii) Find $f(z) = \int [ux(z_0)dz - iuy(z_0)dz]$ Case ii) If v is given, then constauct f(z) = u + iv as follows

i) Find vx(y)ii) find vx(y)iii) find vx(y)iii) find vx(y)iii) find vx(y)



SNS COLLEGE OF TECHNOLOGY (AN AUTONOMOUS INSTITUTION) COIMBATORE - 35 DEPARTMENT OF MATHEMATICS



Broldens

is quien by $V = x^2 - y^2 + 2xy - 3x = 2y$.

$$V_{\chi} = 2x + 2y - 3$$
 $V_{y} = -2y + 2x - 2$ $V_{\chi(2,0)} = 2x - 2$

2) 8.7 U= x2-y2-2xy-2x+8y 28 harmonic. Also find

Pts analytic function f(2)

$$f(2) = \int (2z-2) + i(-2z+3)dz$$
$$= (z^2-2z) + i(3z-z^2) + C$$

+ u is harmonic

3. Find an analytic function whose Praginary part is $V = e^{2x}(y \cos 2y + x \sin 2y)$,

$$V_{x} = de^{2x}y\cos 2y + x \cdot 2e^{2x}\sin 2y + e^{2x}\sin 2y$$



SNS COLLEGE OF TECHNOLOGY (AN AUTONOMOUS INSTITUTION) COIMBATORE – 35 DEPARTMENT OF MATHEMATICS



$$V_{y} = e^{2x}\cos 2y - 2y e^{2x}\sin 2y + 2x e^{2x}\cos 2y$$

$$V_{y}(210) = e^{2x} - 0 + 2z e^{2x}$$

$$= e^{2x} + 2z e^{2x}$$

$$= (e^{2x} + 2z e^{2x}) + i(o)dz$$

$$= e^{2x} + 2 \left\{ \frac{ze^{2x}}{2} - \frac{e^{2x}}{2^{2}} \right\}$$

$$= e^{2x} + 2 \left\{ \frac{ze^{2x}}{2} - \frac{e^{2x}}{2^{2}} \right\}$$

$$= e^{2x} + 2e^{2x} - e^{2x} - e^{2x} - 2e^{2x}$$

$$= e^{2x} + 2e^{2x} - e^{2x} - e^{2x} - 2e^{2x}$$

$$= e^{2x} + 2e^{2x} - e^{2x} - e^{2x} - e^{2x}$$

$$= e^{2x} + 2e^{2x} - e^{2x} - e^{2x} - e^{2x}$$

$$= e^{2x} + 2e^{2x} - e^{2x} - e^{2x} - e^{2x}$$

$$= e^{2x} + e^{2x} - e^{2x} - e^{2x} - e^{2x}$$

$$= e^{2x} + e^{2x} - e^{2x} - e^{2x} - e^{2x}$$

$$= e^{2x} + e^{2x} - e^{2x} - e^{2x} - e^{2x}$$

$$= e^{2x} + e^{2x} - e^{2x} - e^{2x} - e^{2x}$$

$$= e^{2x} + e^{2x} - e^{2x} - e^{2x} - e^{2x}$$

$$= e^{2x} + e^{2x} - e^{2x} - e^{2x} - e^{2x} - e^{2x}$$

$$= e^{2x} + e^{2x} - e^{2x} - e^{2x} - e^{2x} - e^{2x} - e^{2x} - e^{2x}$$

$$= e^{2x} + e^{2x} - e^{2x}$$

$$= e^{2x} + e^{2x} - e^{2x}$$

$$= e^{2x} + e^{2x} - e^{2x}$$

$$= e^{2x} + e^{2x} - e^{$$



SNS COLLEGE OF TECHNOLOGY (AN AUTONOMOUS INSTITUTION) COIMBATORE - 35 DEPARTMENT OF MATHEMATICS



$$\frac{\partial u}{\partial x} \Big|_{z_{10}} = \frac{2 \cos 2z \cdot 2 \cdot \cosh 2(0) - 2}{(\cosh 2(0) - \cos 2z)^{2}}$$

$$= \frac{2 \cos 2z - 2}{(1 - \cos 2z)^{2}} \neq \frac{-3}{2}$$

$$= \frac{-3(1 - \cos 2z)}{(1 - \cos 2z)^{2}}$$

$$= \frac{-9}{(1 - \cos 2z)^{2}} = \frac{-9}{1 - (1 - 9 \sin^{2} z)}$$

$$= \frac{-9}{1 - 1 + 2 \sin^{2} z} = \frac{-9}{4 \sin^{2} z} = \frac{-1}{\sin^{2} z}$$

$$\frac{\partial u}{\partial x} \Big|_{z_{10}} = -\cos 2z \Big|_{z_{10}} = \cos 2z \Big|_{z_{10}}$$

$$\frac{\partial u}{\partial y} = \frac{(\cosh 2y - \cos 2x)(0) - \sin 2x (2 \sin 2y)}{(\cosh 2y - \cos 2x)^{2}}$$

$$= \frac{-8 \sin^{2} x \sin 2x}{(\cosh 2y - \cos 2x)^{2}}$$

$$= \frac{-8 \sin^{2} x \sin 2x}{(\cosh 2y - \cos 2x)^{2}}$$

$$\frac{\partial u}{\partial y} \Big|_{z_{10}} = \frac{-3 \sin^{2} z \sin 3x}{(\cosh 2x) - \cos 2x}\Big|_{z_{10}} = 0$$

$$\frac{\partial u}{\partial y} \Big|_{z_{10}} = \frac{-3 \sin^{2} z \sin 3x}{(\cosh 2x) - \cos 2x}\Big|_{z_{10}} = 0$$

$$\frac{\partial u}{\partial y} \Big|_{z_{10}} = \frac{-3 \sin^{2} z \sin 3x}{(\cosh 2x) - \cos 2x}\Big|_{z_{10}} = 0$$

$$\frac{\partial u}{\partial y} \Big|_{z_{10}} = \frac{-3 \sin^{2} z \sin 3x}{(\cosh 2x) - \cos 2x}\Big|_{z_{10}} = 0$$

$$\frac{\partial u}{\partial y} \Big|_{z_{10}} = \frac{-3 \sin^{2} z \sin 3x}{(\cosh 2x) - \cos 2x}\Big|_{z_{10}} = 0$$

$$\frac{\partial u}{\partial y} \Big|_{z_{10}} = \frac{-3 \sin^{2} z \sin 3x}{(\cosh 2x) - \cos 2x}\Big|_{z_{10}} = 0$$

$$\frac{\partial u}{\partial y} \Big|_{z_{10}} = \frac{-3 \sin^{2} z \sin 3x}{(\cosh 2x) - \cos 2x}\Big|_{z_{10}} = 0$$

$$\frac{\partial u}{\partial y} \Big|_{z_{10}} = \frac{-3 \sin^{2} z \sin 3x}{(\cosh 2x) - \cos 2x}\Big|_{z_{10}} = 0$$

$$\frac{\partial u}{\partial y} \Big|_{z_{10}} = \frac{-3 \sin^{2} z \sin 3x}{(\cosh 2x) - \cos 2x}\Big|_{z_{10}} = 0$$

$$\frac{\partial u}{\partial y} \Big|_{z_{10}} = \frac{-3 \sin^{2} z \sin 3x}{(\cosh 2x) - \cos 2x}\Big|_{z_{10}} = 0$$

$$\frac{\partial u}{\partial y} \Big|_{z_{10}} = \frac{-3 \sin^{2} z \sin 3x}{(\cosh 2x) - \cos 2x}\Big|_{z_{10}} = 0$$

$$\frac{\partial u}{\partial y} \Big|_{z_{10}} = \frac{-3 \sin^{2} z \sin 3x}{(\cosh 2x) - \cos 2x}\Big|_{z_{10}} = 0$$

$$\frac{\partial u}{\partial y} \Big|_{z_{10}} = \frac{-3 \sin^{2} z \sin 3x}{(\cosh 2x) - \cos 2x}\Big|_{z_{10}} = 0$$

$$\frac{\partial u}{\partial y} \Big|_{z_{10}} = \frac{-3 \sin^{2} z \sin 3x}{(\cosh 2x) - \cosh^{2} z \sin$$